

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD (CIN No.U40109MH2005SGCI53646)

From:

Name of Office: EXECUTIVE ENGINEER, EHV PROJECT DIVISION-II, PUNE Office Address: Administrative Building, 1st Floor, 925, Kasba Peth, Pune – 411 011

Contact No.: FAX NO. (020) 245 70 525 & PHONE NO. (020) 245 70 676

E-Mail Id: ee6620@mahatransco.in

Website: mahatransco.in

Ref.No.EE/EHV/Project/DN-II/PN/269

Date: 2 5 MAR 2021

Sub: Supply and erection of LT line for providing LT Power Supply at 220/33 KV Sub Station, Kanhersar, Tal.Khed, Dist.Pune.. (RFX No.70000 1939)

Dear Sir,

Online bids are invited in two bid system for the work of Supply and erection of LT line to provide LT Power Supply at 220/33 KV Sub Station, Kanhersar, Tal.Khed, Dist.Pune. so as to reach this office on or before 01.04.2021 up to 23.59 hrs. under this office on following terms & conditions:-

TERMS AND CONDITIONS:-

Submission of bid

Two bid system should be followed for submitting the offer. Uploading of required documents shall be done on MSETCL's SRM E-tender website https://srmetender.mahatransco.in

A. Techno -Commercial bid:

This should contain following documents certificates as a proof of qualifying pre-requisites, broachers, attested certificates etc.

- a) Valid Government Electrical Contractors Licence
- b) Valid Copy of shop Act or NOC from Grampanchayat or Udyog Adhar.
- c) Valid registration under GST.
- d) Copy of Pan card.
- e) Work experience certificate of Supply of material and erection, testing & commissioning transmission and/or distribution systems, comprising of lines, Sub Station transformers, augmentation of transformer & allied works (not below the rank of Executive Engineer)

If validity of any license/certificate expires during order period, you will have to renew the same & submit the copy to this office. Payment will be affected for valid period only.

- B. Commercial bid:- Bidder should upload the digitally signed price bid under commercial bid online.
- a) Techno-commercial bid will be opened online for all received bids. After verifying the all documents /certificates submitted in techno commercial bid for pre-qualification as mentioned above, if it is found that, the tenderer fulfills the desired prerequisites; the price bid will be opened online. If the same is not found to be meeting the prerequisite, the commercial bid shall not be opened. Tenders with incomplete details or not submitted in prescribed tender form etc. are liable to reject.

mereor.

c) The technical documents should be uploaded in the technical bid & commercial documents /offer/price bid should be uploaded separately, in case both technical & commercial bid are uploaded in one file wrongly, the offer will be rejected.

Estimated Cost in (Rs.)	EMD (Rs.)	Purchase Fee (Rs.)	Closing Date	Technical opening Date	Commercial opening Date
Rs. 1,07,514 /- (Including GST& labour cess)	Rs. 5,000/-	Rs.500/- + 5% GST	23.59 Hrs. on dtd. 01.04.2021	12:00 Hrs. on dtd. 05.04.2021	12:00 Hrs. on dtd. 06.04.2021

Terms & conditions:

- 1) The bid validity period should not be less than 60 days from the date of submission of offer.
- **2) Work completion Period**: The work should be completed within 4 weeks from the date of Handing over the site.
- 3) Supervision of Work:-The work shall be under the supervision of the Addl. Executive Engineer, or his representative.
- 4) The estimated rates given by this office are inclusive of taxes. However, the bidder should quote rates exclusive of all Taxes. The taxes should be quoted separately.
- 5) **Security Deposit**: You have to Pay, Security Deposit @ of 5% of the total value of the order in this office in Cash/ by D.D./ B.G./ fixed deposit in nationalized or scheduled bank after acceptance of order & within 7 days. Also, you will have to apply for refund of SD within 6 months after work . If you fail to apply within stipulated period, action as per company's rules will taken .
- 6) The T&P/ labour/ machinery/ equipment/ material required for the work shall be on your account.

7) Penalty:

- (a) **Delay in execution of work**: If the contractor fails to complete the total work in all respect in stipulated time as mentioned above, he will be liable to pay penalty at rate of ½ % per week subject to maximum limit of 10% of the total value of the order.
- (b) **Performance of work**: If it is found that performance of work is unsatisfactory, the contract is liable for termination without giving any prior notice and at your entire risk. The security deposit paid by you shall be forfeited.
- (c) **Delay in starting the work**: If it is found that the agency fails to execute the agreement/ start the work within stipulated time period, the contract is liable for termination without giving any prior notice and at your entire risk. The EMD paid by you shall be forfeited.

and safety equipment required. If any accident occurs to any person, labour skilled or unskilled, compensation if any ,is to be paid by the contractor only.

- 9) Any breakage/damage occurred to MSETCL material/ Equipment / theft of material if any, asset during the work shall be recovered from your bills as per rules.
- 10) The contractor shall not be entitled to claim any interest on amount payable to him.
- 11) You shall not entrust the work on sub-contract /transfer or assign the contract or any part thereof to any third party. In case any deviations observed it will be treated as breach of contract and the contract will be terminated at your entire risk and cost.
- 12) **Agreement:-** You have to execute an agreement on Rs.500/- Bond paper after receipt of work order & cost of agreement to be borne by the agency
- 13) You should be fully aware of the MSETCL's General Condition for execution of work and same is applicable to this contract also. Any of the condition will not exempt you from your liability to be abiding by the same.
- 14) **Income tax**: If applicable will be deducted as per rules/ otherwise you will have to submit income tax exemption certificate or income tax registration no. of your firm PAN No.
- 15) In case of difference of opinion, misinterpretation of any of the condition of the contract. In connection with or arising out of the condition or during the period work, the decision of the under signed shall be final & binding on you.
- 16) While execution of work, if any loss is caused to MSETCL, the same will be recover from you & you will have to make good the loss, work to be attended by you at your cost & risk only.
- 17) Jurisdiction: All disputes, differences related to the contract shall be subject to the exclusive jurisdiction of Pune District Court.

Thanking you,

Yours faithfully,

Executive Engineer EHV Project Div- II, Pune.

Copy s.w.rs to: 1. The Superintending Engineer, EHV Project Circle, Pune Copy to: 1. The Manager (F&A), EHV Project Division II, Pune.

Schedule "A"

Supply and erection of LT line for providing LT Power Supply at 220/33 KV Sub Station, Kanhersar, Tal.Khed, Dist.Pune

Sr. No.	Name of Equipment	Unit	Qty	Rate	Amount
	Motorial			(Rs.)	(Rs.)
1	RSJ 125x70, 9m long	No	5	6403.97	32019.85
2	MS angle 50x50x6mm	Kg	30	62.97	1889.10
3	M.S.Flats (50x10mm)	Kg	30	58.96	1768.75
4	AAAC 55mm2	Rmt	750	34.77	26075.39
5	ACSR Weasel	Rmt	250	22.49	5622.32
6	Concreting ration 1:4:8	Cmt	4	3679.73	14718.92
7	L.T.Shackle Insulator	No	15	12.16	182.35
8	L.T.Shackle hardwere	Pair	15	44.98	674.68
9	Earthing sets L.T.	Set	5	201.80	1008.98
10	L.T.Stay Sets	Set	3	573.78	1721.34
11	G.I.Wire 3.15.mm (10SWG)	Kg	30	69.90	2096.97
12	Stay Insulators	No	3	12.16	36.47
13	G.I.Wire 8 SWG/6 SWG	Kg	50	69.78	3488.88
14	Sundries	LS	1	2431.27	2431.27
					93735.26
	15% Labour charges on EX-Work of supply total amount		2		13778.97
		GRAND TOTAL Rs.			107514.23
			_se	Say	107514

Rater are inclusive of Labour Cess @1% and GST 18%

In Words:- Rs. One Lakh Seven Thousand Five Hundred And Fourteen only inclusive of all taxes

-- The material required for above work must be as per MSEDCL's latest technical specifications from Approved Vendors.

-- The work is to be carried out as per MSEDCL's standard method of construction and I.E. Rules under the supervision of MSEDCL's representative authorised by Dy.E.E Rajgurunagar Subdivision.

-- Mandatory permissions, inspections & approvals should be obtained.

Executive Engineer
M. S. E. T. Co. Ltd.
EHV Projects Dn.II, Pune